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1. How to use Tableau dashboards

2. How to read a box plot
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Most dashboards will have multiple tabs.

¢ Within a tab, there may be multiple pages.
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Use this button to download a PDF
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Enrollment Over Time = Demographics = Compare with Peers | Metric Details Use the filter(s) on the sidebar
to adjust the data displayed on
that page.
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The I icon will bring you to the
Enrollment Over Time = Demographics | Compare with Peers | Metric Details « Metric Details tab of the
dashboard.
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Outliers are values that are greater than 1.5 times the interquartile range (third
guartile — first quartile) from the top or bottom quartile
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